Name:

GCF Practice Period

Problem 1

Polynomial function Polynomial Equation

4 2 4 2

f(x)=8-x "~ 18-x Bx T -1Bx =0

State the number of roots this polynomial
MUST have __

state y intercept

As X ——o f(x) —__

As X =t f(x) —__

Completely factor and solve the given
polynomial equation

T |
Mark all that apply

has GCF (greatest common factor)

is PST (perfect square trinomial)

is DOTS (difference of two squares)
is SOTC (sum of two cubes)
is DOTC (difference of two cubes)

is a multiple of one of the above

cannot be factored

has positive solutions

has negative solutions

has both positive and negative
solutions

has zero as a solution

has imaginary solutions

OO0 O O0O0OO0OOOOOO

has irrational solutions

Problem 2

Polynomial function Polynomial Equation

x)=12-x0+12- 5243 x 12::3+12- 2243 4=0)

State the number of roots this polynomial
MUST have

state y intercept ____
As X —=e f(x) —__
As X —+e f(x) —__

Completely factor and solve the given
polynomial equation

T |
Mark all that apply

has GCF (greatest common factor)

is PST (perfect square trinomial)

is DOTS (difference of two squares)
is SOTC (sum of two cubes)
is DOTC (difference of two cubes)

is a multiple of one of the above

cannot be factored

has positive solutions

| has negative solutions

has both positive and negative
solutions

has zero as a solution

has imaginary solutions

OO0 O O0OO0OO0OOO0OOOO0

has irrational solutions

FACTOR CARDS GCF polynomials.tns

18.85 ]y gxdo18-x 220
GCF=__
how many local extremes does this
polynomial have?__
(1.50)  24(0,0) (1.5.0) .
-2.1 0.2 2.12
-17.97

completely factored form of the polynomial

Solutions

1.87 > 123 3 412-x 24330
GCF=__
how many local extremes does this
polynomial have?__
0.1 (0.0 _X
e Ay I
. 0.27
-0.97
completely factored form of the polynomial
Solutions

10f8
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Problem 3

Polynomial function

f()=2-x-50x >

MUSThave

state y intercept

polynomial equation

Polynomial Equation

3

2-x-50-x 7 =0

Statethenumber ofroots this polynomial

As X ——o f(x) —__

As X =t f(x) —__

Completely factor and solve the given

T |
Mark all that apply

has GCF (greatest common factor)

is PST (perfect square trinomial)

is DOTS (difference of two squares)
is SOTC (sum of two cubes)
is DOTC (difference of two cubes)

is a multiple of one of the above

cannot be factored

has positive solutions

| has negative solutions

has both positive and negative
solutions

has zero as a solution

has imaginary solutions

OO0 O O0OO0OO0OOO0OOOO0

has irrational solutions

Problem 4

Polynomial function

Fx)=-2- 0 +4- 32416 x

MUST have ___

state y intercept __

As X ——o fix) —__

As X —+eo fix) —__

polynomial equation

Polynomial Equation

244y 16 x=D)

State the number of roots this polynomial

Completely factor and solve the given

T |
Mark all that apply

has GCF (greatest common factor)

is PST (perfect square trinomial)

is DOTS (difference of two squares)
is SOTC (sum of two cubes)
is DOTC (difference of two cubes)

is a multiple of one of the above

cannot be factored

has positive solutions

has negative solutions

has both positive and negative
solutions

has zero as a solution

has imaginary solutions

OO0 O O0O0OO0OOOOOO

has irrational solutions

FACTOR CARDS GCF polynomials.tns

2-x-50-x 3

GCF=___

=0

1.03 | v
0.10.0)
10,44 0.20) N A 0l02
-0.86
completely factored form of the polynomial
Solutions

2-x 3+4-x2+16-x=0

GCF=__

how many local extremes does this
polynomial have?____

42.37 |y
5 (0.0) X
-6.97 (2.0) 1 (4,0) 7,97
-46.05
completely factored form of the polynomial
Solutions

20f8
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Problem 5

Polynomial function

F(x)=5 0 —60- x2 +180-x

MUST have ___

state y intercept ____
As X —=e f(x) —__
As X —+e f(x) —__

Completely factor and solve the given
polynomial equation

Polynomial Equation

5 00— x2+ 180 3=0

State the number of roots this polynomial

T |
Mark all that apply

has GCF (greatest common factor)

is PST (perfect square trinomial)

is DOTS (difference of two squares)
is SOTC (sum of two cubes)
is DOTC (difference of two cubes)

is a multiple of one of the above

cannot be factored

has positive solutions

has negative solutions

has both positive and negative
solutions

has zero as a solution

has imaginary solutions

OO0 O O0O0OO0OOOOOO

has irrational solutions

Problem 6

Polynomial function

Flx)=6 x0—24-x 6ox0—24x=0

MUST have ___

state y intercept __

As X ——o fix) —__

As X —+eo fix) —__

Completely factor and solve the given
polynomial equation

Polynomial Equation

State the number of roots this polynomial

T |
Mark all that apply

has GCF (greatest common factor)

is PST (perfect square trinomial)

is DOTS (difference of two squares)
is SOTC (sum of two cubes)
is DOTC (difference of two cubes)

is a multiple of one of the above

cannot be factored

has positive solutions

| has negative solutions

has both positive and negative
solutions

has zero as a solution

has imaginary solutions

OO0 O O0OO0OO0OOO0OOOO0

has irrational solutions

FACTOR CARDS GCF polynomials.tns

20

X

-5.03 (0,0)

-143.53 |

- (6,0)

10.05

Solutions

completely factored form of the polynomial

5 x3—60-x

GCF =

2.1180-x=0

how many local extremes does this
polynomial have?____

-40.3

Solutions

completely factored form of the polynomial

6+ x 3 —24-x=0

GCF=__

how many local extremes does this
polynomial have?____

3of 8
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Problem 7

F(x)=-9- 7 +24- x2— 160 x

MUST have _

state y intercept ____
As X ——o fix) —_
As x —+e f(x) —__

Completely factor and solve the given
polynomial equation

Polynomial function Polynomial Equation

9o x3424 1216 3=

State the number of roots this polynomial

OO0 O O0OO0OO0OOO0OOOO0

T |
Mark all that apply

has GCF (greatest common factor)

is PST (perfect square trinomial)

is DOTS (difference of two squares)
is SOTC (sum of two cubes)
is DOTC (difference of two cubes)

is a multiple of one of the above

cannot be factored

has positive solutions

| has negative solutions

has both positive and negative
solutions

has zero as a solution

has imaginary solutions

has irrational solutions

Problem 8
Polynomial function Polynomial Equation
fx) =6 x 3 +0-x 215 x 6rx 0 +9-x 215 x=0

MUST have ___

state y intercept

As X —— fix) —_

As X —+ee f(x) —_

Completely factor and solve the given
polynomial equation

State the number of roots this polynomial

Mark all that apply

OO0 O O0O0OO0OOOOOO

has GCF (greatest common factor)

is PST (perfect square trinomial)

is DOTS (difference of two squares)
is SOTC (sum of two cubes)
is DOTC (difference of two cubes)

is a multiple of one of the above

cannot be factored

has positive solutions

has negative solutions

has both positive and negative
solutions

has zero as a solution

has imaginary solutions

has irrational solutions

9.3 [y 9-x 3424-x 2216 x-0
GCF=__
how many local extremes does this
polynomial have?__
1 (1.33,0)
X
-2.18 (0,0)0.2 3.88
-5.35

completely factored form of the polynomial

Solutions

28.92 Ly 6 x3+9-x2 - 15-x=0
GCF=__
how many local extremes does this
polynomial have?__
(-2.5,0) 2 ¥
-4.68 (0.0)¢ E/( 1,0) 315
-10.1

completely factored form of the polynomial

Solutions

FACTOR CARDS GCF polynomials.tns

4 of 8
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Problem 9
Polynomial function Polynomial Equation
f(x)=20-x-45-x > 20-x-45-x 3=0

State the number of roots this polynomial
MUST have __

state y intercept

As X ——o f(x) —__

As X =t f(x) —__

Completely factor and solve the given
polynomial equation

T |
Mark all that apply

has GCF (greatest common factor)

is PST (perfect square trinomial)

is DOTS (difference of two squares)
is SOTC (sum of two cubes)
is DOTC (difference of two cubes)

is a multiple of one of the above

cannot be factored

has positive solutions

| has negative solutions

has both positive and negative
solutions

has zero as a solution

has imaginary solutions

OO0 O O0OO0OO0OOO0OOOO0

has irrational solutions

Problem 10

Polynomial function

f0=3-x%424-x3

Polynomial Equation

340424430

State the number of roots this polynomial
MUST have

state y intercept _____

As X ——o f(x) —__

As X =t f(x) —__

Completely factor and solve the given
polynomial equation

T |
Mark all that apply

has GCF (greatest common factor)

is PST (perfect square trinomial)

is DOTS (difference of two squares)
is SOTC (sum of two cubes)
is DOTC (difference of two cubes)

is a multiple of one of the above

cannot be factored

has positive solutions

| has negative solutions

has both positive and negative
solutions

has zero as a solution

has imaginary solutions

OO0 O O0OO0OO0OOO0OOOO0

has irrational solutions

FACTOR CARDS GCF polynomials.tns

C _{_[}._66_?,[}]_ X

(0.667,0) | (.0)

-2.1 0.2 2.1

-9.45

completely factored form of the polynomial

20-x-45-x =0

GCF =

how many local extremes does this
polynomial have?____

Solutions

59.65 ¥
(-2.,0) 51/ X
-6.76 040 4.93
-58.94

completely factored form of the polynomial

3-x0424-x 329

GCF=__

how many local extremes does this
polynomial have?_____

Solutions

5of 8
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Problem 11

Polynomial function

2

5
f(x)=3-x=-375x " 3-x

MUST have __

state y intercept

As X ——o f(x) —__

As X =t f(x) —__

Completely factor and solve the given
polynomial equation

Polynomial Equation

State the number of roots this polynomial

T |
Mark all that apply

has GCF (greatest common factor)

is PST (perfect square trinomial)

is SOTC (sum of two cubes)
is DOTC (difference of two cubes)

is DOTS (difference of two squares)

is a multiple of one of the above

cannot be factored

has positive solutions

| has negative solutions

has both positive and negative
solutions

-0.27

(0,0)0.(

-1.62

(0.2,0)
~. 0.34

has zero as a solution

has imaginary solutions

has irrational solutions

OO0 O O0OO0OO0OOO0OOOO0

Problem 12

Polynomial function

Flx)=32-x0+112 x4+08- 3

MUST have

state y intercept ____
As X —=e f(x) —__
As X —+e f(x) —__

Completely factor and solve the given
polynomial equation

Polynomial Equation

32.x94112- x4 +08. 3=

State the number of roots this polynomial

OO0 O O0OO0OO0OOO0OOOO0

T |
Mark all that apply

Solutions

completely factored form of the polynomial

2

]

3-x
GCF =

375 x 7 =0

how many local extremes does this
polynomial have?____

has GCF (greatest common factor)

is PST (perfect square trinomial)

9.31"

is SOTC (sum of two cubes)
is DOTC (difference of two cubes)

is DOTS (difference of two squares)

is a multiple of one of the above

cannot be factored

has positive solutions

| has negative solutions

has both positive and negative
solutions

20.78 |

has zero as a solution

has imaginary solutions

has irrational solutions

Solutions

FACTOR CARDS GCF polynomials.tns

completely factored form of the polynomial

4108.x 3=

5
32-x " +112-x
GCF=___

how many local extremes does this
polynomial have?_____

6 of 8
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Problem 13
Polynomial function Polynomial Equation
f(x)=-30-x *-51-x 3-9-x2

4 3

30-x "-51-x (J-xz—[}

State the number of roots this polynomial
MUST have __

state y intercept _____

AS X —=e flx) —__

As X —te f(x) —__

Completely factor and solve the given
polynomial equation

Mark all that apply

has GCF (greatest common factor)

is PST (perfect square trinomial)

is DOTS (difference of two squares)
is SOTC (sum of two cubes)
is DOTC (difference of two cubes)

can be factored

is a multiple of one of the above

has positive solutions

| has negative solutions

has both positive and negative
solutions

has zero as a solution

has imaginary solutions

OO0 O O0OO0OO0OOO0OOOO0

has irrational solutions

Problem 14
Polynomial function Polynomial Equation
f(=-12-x 4+34-x 3 -10-x 2

12-x 4+34-x 3-10-x 20

State the number of roots this polynomial
MUST have ___

state y intercept ____
AS X —=e flx) —__
As X —+e f(x) —__

Completely factor and solve the given
polynomial equation

Mark all that apply

has GCF (greatest common factor)

is PST (perfect square trinomial)

is DOTS (difference of two squares)
is SOTC (sum of two cubes)
is DOTC (difference of two cubes)

is a multiple of one of the above

cannot be factored

has positive solutions

| has negative solutions

has both positive and negative
solutions

has zero as a solution

has imaginary solutions

OO0 O O0OO0OO0OOO0OOOO0

has irrational solutions

FACTOR CARDS GCF polynomials.tns

20.89 1y 30-x 4-51-x3-9-x 220

GCF =

how many local extremes does this
polynomial have?__

2 -
_Iliglﬁl ( [I_!I',‘I[}I)I I ( [I}.IZ,I[}jI . N

-17.67 ¢

completely factored form of the polynomial

Solutions

43.88 Ly 12-x 4+34-x3-10-x2=0

GCF=__

how many local extremes does this
polynomial have?____

(n,ujé (25,0

-2.89 0.2(0.333,0) 4.83

completely factored form of the polynomial

Solutions

70of 8



Name:

GCF Practice Period

Problem 15

Polynomial function Polynomial Equation

f()=100-x 3 2

100-x 3 +120-x 2+36+x=0

+F120-x T +36-x

State the number of roots this polynomial
MUST have __

state y intercept _____

AS X —=e flx) —__

As X —te f(x) —__

Completely factor and solve the given
polynomial equation

Mark all that apply

has GCF (greatest common factor)
is PST (perfect square trinomial)

is DOTS (difference of two squares)
is SOTC (sum of two cubes)

is DOTC (difference of two cubes)
is a multiple of one of the above
cannot be factored

has positive solutions

has negative solutions

has both positive and negative
solutions

has zero as a solution

has imaginary solutions

OO0 O OO0OO0OOOOOO

has irrational solutions

Problem 16

Polynomial function Polynomial Equation

f()=45-x 3 -5.x°  45.x 3-5.x°=p

State the number of roots this polynomial
MUST have

state y intercept _____

As X ——o f(x) —__

As X =t f(x) —__

Completely factor and solve the given
polynomial equation

T |
Mark all that apply

has GCF (greatest common factor)

is PST (perfect square trinomial)

is DOTS (difference of two squares)
is SOTC (sum of two cubes)
is DOTC (difference of two cubes)

is a multiple of one of the above

cannot be factored

| has positive solutions

has negative solutions

has both positive and negative
solutions

has zero as a solution

has imaginary solutions

OO0 O O0OO0OO0OO0OOOO

has irrational solutions

FACTOR CARDS GCF polynomials.tns

—

474y 100-x 3 +120-x 2+36-x=0
GCF=__
how many local extremes does this
polynomial have?__ -
(-0.6,0) 0.5 (0.0) ¥
-1.29 . o1 0.79
5.6

completely factored form of the polynomial

Solutions

GCF=__

how many local extremes does this
polynomial have?__

—
[

L=

=

-4.9 0(@,0)

]
{=)]

_,__._-—-—-.J.r‘"

completely factored form of the polynomial

Solutions

8 of 8
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